-} Erafsommen met vlek tot en met 5.000 [1]

Oefening 1

1. 4395 - ‘ = 1462
0. 4197 - .} = 1.188
3. & ~ 1897 = 1528
4. Q - 518 = 3115
5. 2602 - ” = 1557
6. t’ . 526 = 1541
7. 4330 - R = 3.001
8. £ ~ 817 = 2143
0. 4425 - * = 2.873
10. * - 1302 = 3.039

Oefening 2

1. 4.265 - ‘ = 2342
2, * - 1773 = 1115
3, ‘ . 704 = 1924
4. 2014 - * = 1.332
5, ‘ . 2526 = 1673
5. 3956 - ‘ = 3367
74 - 1134 = 1668
8. 2470 - Qr = 1.720
9. 3.191 - ‘ = 2.540
10. ’* ~ 1966 = 1302

© www.junioreinstein.nl Online oefenen | Leer-en oefenboeken | Werkbladen | Educatief materiaal



Erafsommen met vlek tot en met 5.000 [1]

| ANTWOORDEN

Oefening 1

1. 4395 - ‘ = 1462 2.933
0. 4197 - .? = 1.188 3.009
3, & ~ 1897 = 1528 3.425
440 - s18 = 3115 3.633

5. 2602 - “ - 1557 1045

6. tr . 526 = 1541 2.067

7. 4330 - R = 3.001 1329
8. £ ~ 817 = 2743 3.560
9. 4425 - * = 2.873 1552
10. * - 1302 = 3.039 4.34]
Oefening 2

1 4265 - ’ = 2342 1.923
2. * - 1773 = 1115 2.888
3. ‘ - 704 = 1924 2.628
4. 2014 - * = 1332 682
5. ‘ ~ 2526 = 1673 4199
6. 3956 - x = 3367 589
7. * - 1134 = 1668 2.802

8. 2470 - * = 1.720 750

9. 3191 - ‘ = 2540 65

10. '* . 1966 = 1302 3.268
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